flux

AP/ 3.309

AP / 3.486

15

10

—100 0

—200

Fe2 + Continuum Fit

Opep 776 +/— 157 km/s
2 - L

X omin / 4561 = 3.309

oy 2335 km/s

2500
Rest A (&)

Fe2 Scale Factor X2 Diagnosis

0.0458(21)
T T T T

>|<2minl / 4561 = 3.309

rm806

T
RMS 0.835

MAD 0.66

0.045

Fe2 scale factor

Fe2 Velocity Dispersion X2 Diagnosis

Fe2 Dispersion (km/s)

o, 100 2405 prior 225 km/s —829(157) ../ 4561 = 3.309

T T T T I T T T T I T T T T I T T T I T T T T I T T T T I
rm806 RMS 56.0 :
L MAD 30.8 .
I | 1l [t | |
. . R R
0 500 1000 1500 2000 2500 3000



